b Ui

st

39 1
Me 2016 6

=]
8 od st
| 9| 20{A|

. 0 718 782 2021
=

2. 20214 3

B BEE
] K .A._E_.#vr R
7 . = o <0
ol od o L S
i ook RER
= ™ RO ﬁo_”_\/m KO
[ N Zo Uo & (<2
IH - ol Hm.._m_.oxlo 7OT
ar =} < w0 g0 K 2o Ko ®o
0 o g RO ny of S o0 =
- & @ o nﬂw:_ © R0 o
o1 5 " or M gD ol X
-, [} o ,_u__| o or
20 s 2 Haar R &0 :
o) o _ln_._o¢o_“__lu_L.__||_ N oo o 0
or pr o A w 2K Bl
o | Ho o & ® ol . a =
~ Q._ ] _
H 2 g2 = Ao =
< O W I T O e - X o =
= < Hg . V== o= K
a _ &% .33 i 02 & Bl
(@] E! H =K =< 0o L = H -
= S0 S » © ot = of o = 3
bt ~ o W® o, -n < Tl
= or K g AN LR 44 _%___._Ax_. ]
CR Iu S 0 o = o ogLauk ¥
a Ro= o By .__A.._Ao_umw N © 0 <
dookg B AN R OO R oy do
S o, 2 M0 g 3 g D . W< Ik _
i B = < fo 0K & B ool 4l E] O _ % ) o1
s B oo B 5w of o Mg "X BN
R T w RO — Blgn oo @ X o < W
oF UL Rg g O S H S o<
0 R4S _VYEEFKRNK SRS Wy
=7 ﬁﬂ.ﬂm_lu_Mo_m._|On.Aluﬂn_ Mmmmu.ﬁ_ulur._nﬁo._unoom.o
o @wmT T w MR o, 52 o ® zr
= < H = = & oo o H Ko oMy < sl -
< E— o = O B - R = | o ]
o ok U0 K = = X0 S o | o s =
Tor A PONE R anm_lAT i up B moAMlzo i
ol 71 ol o 0 gr = - W < T 30 5 ST A
i rn._E_‘.___XoLlLIAo_ E mn_Or_| =2 Tl
TN Y TN T ety © M B P H AN g
of o _M_J _ﬁlﬂ__ ERT) B Ko i = mo .. < .. © of o .. oH
< of I
<70 TN e 0 ® 4
) @ ®
0
RO
e
._E.
=]
oju
0
<
!
(21l
2 5
i o
un
of
ol ofl
ki =
m
0
RO -
=] S
oF o
o
Ind
ol
xr
orl
or
=
(W)
J
e

HAMCHEtm cishl = A|2%a} httpy//urbanyonsei.ac.kr


http://urban.yonsei.ac.kr

agolA 10|

2 o o, 24%

0|

HMEsor 2

Spey

x
]

4

A
o

o

o

v ke 17 R o)
A

ol & X7
(TOPIK) 2& O]

S
=

2 A

[

oA 7h

I

o

s

5t04
M, HEHO|E, ZAIEZAETYEE, GISAEAISTEY

=

[

=)

(=13
=]
tgsoz X|Fol 7t
g AZM ®ME S

Qu Wi=0[0{0F S, 31h=o|
=

708 Ol E[Ofof
ANy ® =8

A
=

e T

FOol k53, of
= JHE0| E[0] ZATL
- 57 ats ZEA
® 2AF0AIY
Q 2=

Ho

e

ol

]
Ho

AL
(=]

708 O

=
=)

q

x
(=]

k

[u]
()

4

x
(=]

100

[

[

Aol A

[

[

t

.
o

o

SH

MOAf Al

I

of

s

= oAl
el Fof ch

C

: TOEFL 500% O|4t , TOEIC 630% O|4 , TEPS 5507% O|4t
Cl

©

i

Ald

t

10
30

H

© SoM Al

ES
=)

S otelargoM =

MEMNX =2 stetis] T1F2E, U

=]
—

=
| X=of 2k of

Lirtofl 217 -

ol
St
5}

AL

BN}

B
SHAHO
= -

9m

bS
(=]

ol

o X
e =

o

Abt

[=13
[== 1)
=13
=
ors
21

tof OF

x
(]

q

t

- Full-time
E



